@® 3x3x3=33
@ 2x2x2x3x3=2%x32
® atat+a+ta=a

@ axbxbxbxb=axb*

1 1
© 2X2X2XTXT 23X 72




ol

1] ]2




S2AF7IE 3405

3.



27V E 3 4 7 |8

4.



O 4= $ollA 6 9] vil=pdl =8 B ghop 2/ 2 2 5 51 L.

1534, 2356, 4470, 7563, 10546, 27498, 32466

D R
=%



Yt 0 ¥ 9

@_

=
2

8l Zho] Juke 572
A e] A %

7K

6.

31 P

M



7.

Al el %7t 7he

5)
7ele) 3 o) Hj4 B o

3

5 S
=%

7}A]

7

ftlo

rek

il

A YUY

A
Al

El_}._

A

]

o
—

i

2~
T

A

rr



M



& % 39 wj47} obd 2127

D 129 @ 672 @ 501 @ 342 ® 781



10. o= 512 o Hjpe?

@® 90 @ 126 ® 288 @ 352 ® 1498



11.

1914 100744 9] A5 Theat 2ol A Al Aol 44 %
A2 Sol ottt
(1,2, 3), (2,3, 4), (3,4,5), -, (98, 99, 100)

wh, A %] ol 21 9] W49l e B B Fgelx) F5h?

A

O 12 @ 13 ® 14 @ 15 ® 16



al

A

12. ot

oo

T =

Mo
tlo

w5 T2A(FY 27H)

D 3x3x5x5x7=32x2°%x7
1
5x5x5x5 5t

1 1

3x3xTxX7  32xT72
1 1

=)

® axaxaxbxbxc=a®xb?xc?



13. 3% 9 92| 42| 48 Topoiet,



14. 2° =aq, 3 =243 & WZE0t= a, b 9] 34 242 FL6HH?

D a=16,b=4 @ a=16,b=5 ® a=32 b=4

@ a=32,b=5 ® a=32,b=6



Z =L 1= 31 O
£5t=a, b, ¢ O F27

1x2x4x5%x10%x20=29x%3"x5¢




16.

Y] 242 o] A5 364[ |l 250 & clobH 9 o] wiGTt H ), [ ]

bl YL 57

@ 2 @ 3 ® 5 @ 7 ®9



17. o8 A=e) 3124 82 3 ©] o WA 4 O] wjoct.
[ kel gsbe 528 B otojel,

D R
2%
5 J=X

2%



18.

opiil B2 Bdoks B2 Fol MAL
gk, ot} @ vhel st ke T3t ol

Bgg urE e o, A ofuul (48 g}
ol
welw obulrt 24 9 8] HGL stelo}

St=7F? (, ofrllbbe 242t g st
Ste Aoz 71t

@ 4 9 @ 5 3] ® 6 3]
@ 7 3 ® 8 3]



19. 33 =aq, 11 = 121 & W=55k= A5 a, b ofl tiste] a+b 9] 31-2?

® 29 @ 30 ® 32 @ 34 ® 46



